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Pelation between Closed-1oop
Transient and Closed —1oop
Freauency Responses
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Pelation between Closed-1oop
Transient and Closed —1oop
Freauency Responses
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Delationship between Percent
overshoot and damping ratio
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Delationship between Phase
margin and damping ratio
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Pesponse Speed and Closed —
100D Freauency besponses
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Frequency-Response Analysis
S

Second-order transfer function(Closed-loop TF)

K o’
G(s) = 2 : 2
S*+20mw.S + ;

Example |

Unity feedback system
C(s)

Ris) f > 100 . .“l |
= =+10s

Step | open-loop TF Scope

12



Frequency-Response Analysis
S

Open-loop TF
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Frequency-Response Analysis
Bode diagram- Open-loop TF
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Frequency-Response Analysis
Bode diagram- Closed-loop TF
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Frequency-Response Analysis
Time response- Closed-loop TF
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Frequency-Response Analysis
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